
Automatiseren 
Groep 7 

Oppervlaktematen omrekenen 
Van procenten breuken maken 

Opdracht 1: Reken de volgende oppervlaktematen om 

3 m2 =  dm2 2000 cm2 =  dm2 18 m2 =  dm2

6 m2 =  dm2 23000 cm2 =  dm2 60000 dm2 =  m2

17 m2 =  dm2 4100 cm2 =  dm2 32 cm2 =   mm2

81 m2 =  dm2 4300 cm2 =  dm2 3 m2 =   cm2

44 m2 =  dm2 92000 cm2 =   dm2 6600 km2 =     hm2

Opdracht 2: Van breuken procenten maken
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ANTWOORDEN 

Opdracht 1: Reken de volgende oppervlaktematen om 

3 m2 = 300  dm2 2000 cm2 = 20      dm2 18 m2 = 1800  dm2

6 m2 = 600  dm2 23000 cm2 =  230    dm2 60000 dm2 = 600  m2

17 m2 = 1700     dm2 4100 cm2 =  41 dm2 32 cm2 = 3200  mm2

81 m2 = 8100     dm2 4300 cm2 = 43 dm2 3 m2 = 30000    cm2

44 m2 = 4400     dm2 92000 cm2 =920     dm2 6600 km2 = 660000     hm2

Opdracht 2: Van breuken procenten maken
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